
jmwq bwrvIN (4 swl)    ivSw AYgrIklcr (NSQF)                         ku`l AMk 15 

Bwg a 

swry pRSn krny jrUrI hn[ hryk pRSn 2 AMk[       (2*2=4) 

1. AwrgYink mlc qoN kI Bwv hY?        
2. pSU BlweI sMbMDI knUMn qoN qusIN kI smJdy ho? 

Bwg A 

 koeI do pRSn kro[ hryk pRSn 3 AMk[       (2*3=6) 

1. fyArI Pwrm iv`c fyArI kwimAW dI sur`iKAw leI vrqy jWdy swjo smwn bwry d`so?     
2. pSUAW dy AsDwrx ivvhwr qoN kI Bwv hY? Aqy AsDwrx ivvhwr dIAW koeI do prikirAwvW d`so[ 
3. fyArI Pwrm iv`c koeI 6 KqirAW bwry ds̀o[ 

Bwg e 

koeI iek̀ pRSn kro[ hryk pRSn 5 AMk[         (1*5=5) 

1. qMdrusq Aqy ibmwr pSU iv`c kI AMqr hY? 
2. FoAw FuAweI qoN kI Bwv hY Aqy FoAw guAweI dy qrIikAW bwry ivsqwr ivc̀ d`so[ 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 


